s over a field F. Let o € Hom(V, w) ang

Exercise 262
o = a. If w € im(@), show

Let V and W be vector spac
B € Hom(W, V) satisfy the con
o«1(w) = {B(w) + v — pa@) |V E V]

—_—

Exercise 269
.3 3 *
Let o : R7 — R7 be the linear transformation given by

g a+b+c
[ A b > —a—C :
¢ b

Exercise 277
Let V be a finite-dimensional vector space over a field F and let o, g
Hom(V, V) be linear transformations satisfying im(a) +im(g) =V = ker(,a) i

ker(B). Show that im(er) Nim(f) = {Oy } = ker(a) N ker(f).

(&
dition that of

Find ker(e) and im(a).

gxercise 320 _
Let V be a finitely-generated vector space over a field F and let o € End(V).

how that @ is not monic if and only if there exists an endomorphism f # og of

S
v satisfying aff = 00.

Exercise 321
Let V be a vector space over a field F and let @ € End(V). Show that ker(x) =

ker(a?) if and only if ker(«) and im(«) are disjoint.

Exercise 379
Let & and B be endomorphisms of a vector space V' over a field F satisfying

af = Be. Is ker(er) invariant under g ?






